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Decimals — 4

1. Subtract 145.023 from 525.09
a) 380.067

c) 350.067
2.23.65+45.76 -21.12 =

a) 21.12

c) 48.92
3.5-0.5-0.05-0.005 =

a) 4.554

c) 4.445

4. Subtract the difference of 75.65 and 85.35 from their sums.

a) 151.03
c) 151.003
5.100 X 0.865 =
a) 865

c) 8.65
6.95.007 X 10 =
a) 95.007
c) 95007

7.105.070 X 1000 =

a) 10507

) 105007
8.45.6 +100 =
a) 4.56

c) 0.456
9.675.987 +10 =
a) 67.5987
) 6759.87
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380.076

None of these

48.29

23.56

4.454

None of these

151.30

None of these

86.5

None of these

950.70

950.07

105700

105070

45.6

None of these

67.9587

None of these
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10.0.7 = 1000 =
a) 0.07 b) 0.007
<) 0.0007 d) 0.00007
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